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if H1 is empty, return“}NIJZ %Q{M\ / \ \L’
else if H2 is empty, return Hlé: fgl C{ o

else let newroot = min(root (Hl), root (H2))
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if newroot == root (H1) 6;
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if ST1.helght >= ST2.height && ST1.height >= ST3.height
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new Heap (newroot, /ST1,» Merge (ST2, ST3))
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else if ST2.height >= STl.height && ST2. height >= ST3.height
new Heap (newroot, ST2, Merge (ST1, ST3))
else // ST3 is largest

new Heap (newroot, ST3, Merge (ST1l, ST2))
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Merge (H1, H2) {
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let ST1 = H2.left§.
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ST2 = H2.right$
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if STl.height >= ST2.height && S?}Lheight >= ST3.height
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new Heap (newrQQF, Sle\Merge (322, ST3) )~
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else if ST2.height >= STl.height && ST2.height >= ST3.height
new Heap (newroot, ST2, Merge (ST1, ST3))

else // ST3 is largest



